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Which of the following statement/s is/

are not correct in respect of G20

Developing Nations?

(1) Itisablock of developing nations
established on April 30, 2001

(2} This group emerged at the 5"
Ministerial NATO Conference

(3) The Headquarters of G20
developing Nations is at Patna

(4) The Member States of G20
Developing Nations is 20 countries

(A) 2and3 (B) 3and4

(C) land4 (D) land2

During his visit to Australia PM Narendra
Modi spelled about 3 Cs, 3 Ds, and 3 Es
of India Australia friendship. Which one
of the following is correct in respect of
3Cs?

(A) Commonwealth, Cricket and Curry
(B) Cricket, Career and Candid

(C) Cricket, Coffee and Comfort

(D) Care, Career and Connect

Which of the following statement/sis /are

correct in respect of “Sengol’?

(1) “Sengol’ signifies thetransfer of
power from British toIndians

(2) It symbolises the Marathi culture
of transfer of power from one King
to other King

(3) The ‘Sengol’ has been reintroduced
in the new Parliament Bhavan of
India

(4) Pandit Jawaharlal Nehru accepted
‘Sengol’ at 10.45 PM on August 14,
1947 from Adhinam of Kerala

(A) land3 (B) 2and4

(C) 3and4 (D) 2and3
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Which of the following statements are
correct in respect of withdrawal of Rs.
2000 Currency Notes from circulation?

(1) This move is a part of RBI’s
Compound Note Policy

(2) It’saimis to provide the Public with
high quality Currency Notes

(3) Rs. 2000 Currency Notes were
- introduced in the year 2015

(4) Printing of Rs. 2000 Currency
Notes were stopped in the year

2018-19
(A) 2and4 (B) 1and3
(C) 3and4 (D) tand4

Which of the following statement/s is/

are correct regarding ‘Forest-PLUS 2.0

Programme’?

(1) This programme is a Five-year
partnership between USAID and
Ministry of Environment, Forests
and Climate Change.

(2) Forest-PLUS 2.0 Programme
denotes ‘Forest for Wealth and
Health’

(3) Tetra Tech 1s building capacity
across landscapes in three States in
India

(4) Thethree States which come under
this programme are; Andhra
Pradesh, Karnataka and Bihar

(A) 2and4
(C) land3

(B) land4
(D) 3and4
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Which one of the following statements

is not correct in respect of ‘Euxine

Sea’ ?

(A) ThisSeaisalsoknownas ‘Red Sea’.

(B) It is located between Eastern
Furope and Western Asta.

(C) Ttserves as a barrier for NATO to
counter Russia.

(D) The earliest known name of the Sea
is ‘the Sea of Zalpa’.

Which of the following statement/s is/

are correct in respect of ‘The First

Ever Census of Water bodies in India-

2023’ released by Ministry of Jal

Shakti?

(1) The Census enumerated a total of
24.24,540 water bodies across the

country

(2) West Bengal has the highest
number of Tanks

(3) Tamil Nadu has the highest number
of Lakes

(4) Andhra Pradesh leads in water
conservation schemes.

(A) land2 (B) 2and4

(C) land3 (D) 4only

Which of the following statements are

correct in respect of" ‘Nomadic

Elephant’?

(1) It is an Inde-Mongolian joint
military exercise

(2) The Fourteenth Edition of this
exercise took place in the year
2019

(3) This exercise is aimed to train
Elephants in Defence activities

(4) The First Edition of ‘Nomadic
Flephant’ took place in Gwalior,

Madhya Pradesh.
(A) land3 (B) 2and4
(C) 2and3 (D) land2
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Which of the following statement/s is/
are not correct in respect of ‘Batagaika
Crater’?

(1) The Batagaika Crater is situated in
Australia Far East : :

(2) This region has become a focal
point for studying the effects of
climate change on permafrost.

(3) The Batagaika Crater is
affectionately referred as ‘The Sky-

>

mn

(4) The permafrost thaws release
enormous quantities of Organic
Carbon.

(A) 2and3 (B) land4

(C) land3 (D) 2and4

Which of the following statements are
correct in respect of ‘Talisman Sabre
Exercise - 2023’7

(1) USA and France have initiated the
‘Talisman Sabre Exercise- 2023’

(2) Itisajoint military exercise of the
two countries

(3) ThisExercise is held for every Four
Years

(4) India attended as an Observer to
this military exercise
(A) 2and4 (B) land3

(C) 3and4 (D) 2and3

CSP-1/A
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12.

Which of the following statements are
not correct in respect of ‘Rajasthan
Minimum Guaranteed Income Bill-
2023’

(1) Under this Scheme every family is
entitled to guaranteed employment
for 125 days per year.

(2) This Scheme provides guaranteed
minimum monthly Pension fixed at
Rs. 2000/- per month for specific
categories

(3) This scheme encompasses the
flagship of ‘Jawahar Rozgar Yojana’
for urban areas.

(4) To implement this programme
Govermnment has estimated additional
expenditure of Rs. 2,500 Crore

annually.
(A) 3and4 (B) 2and3
(C) Tand3 (D) 2and4

Which of the following statements are
not correct?

According to the Second Edition of
National Multidimensional Poverty
Index-2023 released by NITI Aayog -

(1) 13.5 Crore people escaped from
multidimensional poverty

(2) Inrural areas thereis rapid decline
in_poverty from 32.59% to
19.28%

(3) Bihar registered the largest decline
in the number of poor individuals.

(4) This Report covered a
comprehensive analysis of poverty

across 1075 Administrative
Districts
(A) 2and4 (B) land2
(C) 3and4 (D) land3

- CSP-1/A

11.

12.

PeaIg QRYER ARINQ 6QQT “AlegIe ASEY
oqe 219 G - 2023° @°0d6q 0] g6 7 e

(1) % 6Q1IRQI 2RINER QEMR UGRIQ 98g
125 ¢ @d 3¢S aR9Ig 2RI

(2) <% calwql §8q 9d am udy aide
2000 oml snad g0 9989 60999
gaie Q6Q

(3) QouEe 6Ag AR I8 6QINRI SRR
69189IQ SRIRIGI'G 2LYS A6

(4) <2 6enia ARG AL 20R1Q AT
2,500 6ol omiq 200G MO 2SR

2083
(A) 364 B) 263
(C) 163 (D) 264

F6q1Q 609 Agf 0Q gew 7

@13 216819 QIR gRIFS 1018 QLGS FIRRY
geais 2023 q §e1a 9°aqd 2gaes -

(1) 13.5 ¢S smue agael Q8Qq 4l
aIRes

(2) gEesa gy 32.59 % ¢ 19.28%
2 219 AI98

(3) GeIR6a oRee QY AT0IQ 214 AINR

(4) <% Geaigea 1075 & gaQde aqea
QTG 69R IR F69NE FUAIRAR
(A) 284 B) 12

(C) 364 (D) 163



v

13.

14.

15.

Which State Government in India has
taken significant step to introduce an
educational initiative called ‘CM Rise
Schools’?

(A) MadhyaPradesh

(B) Uttar Pradesh

(C) Kerala

(D) AndhraPradesh

Which of the following statements are
correct in respect of ‘ Agreement on use
of Local Currencies for cross-border
transactions’?

(1) India and UAE have signed a
memorandum in this Agreement.
This agreement enables a frame
work for trade settlements in their
respective national currencies.

)

(3)
Prime Ministers of India and UAE
Peekay Intermark Ltd. and Reserve
Bank of India were the first users
of this system
(A) 2and4

(C) land2

(4)

(B) 3and4
(D) land3

Which of the following statements are
correct in respect of ‘Namda Project’?
(1) This project is a part.of ‘Pradhan
Mantri Kaushal Vikas Yojana’.
Under this“programme 2200
candidates from Assam were
trained

The aim of this project is to
preserve the endangered crafts of
wool weaving.

This project works under public -
private partnership
2,3and 4

1,2 and 3

(2)

(3)

(4)

(A)
©)

(B) 1,3and4
(D) 1,2and4

CSP-1/A
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16. The Bhaumakaras started an era in the

17.

18.

year 736 CE. What was the last known
date mentioned in the Bhauma-kara
records. '

(A) 187
(B) 190
(C) 204
(D) 213

The Bhanjas of Khinjali-mandala initiaily
had their capital at Dhritipura, but later
on they shifted their capital to

(A) Vanjulvaka
(B) Vinitapura
(C) Yayatinagara
(D) Vyaghrakota

With reference to Mahasivagupta
Balarjuna consider the following:

1. He was the Panduvamsi king of
South Kosala with is capital
located at Sirpur.

2. He extended his dominion by
capturing Suvarnapura, modern
Sonepur.

3.~ "Heruled for more than 57 years.

How many statements given above are
correct?

(A) Onlyone
(B) Only two
(C) Allthree
(D) None

CSP-1/A
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19. With reference to the creation of a
- separate province of Orissa consider the
following statements.
1. The British Parliament’s
Constitution of Orissa order, 1936
got the approval of the king on 3
March 1936 and Orissa became a
new province on 1 April 1936.
2. Sir John Austin Hubback was
appointed as the first Governor of
Orissa.
3.  Sir Courtney Terel, the Chief
Justice of Bihar and Orissa High
Court, administered the oath of
office to the new Governor.
4. Theinaugural function was held in
Ravenshaw College Hall at
Cuttack.
How many statements given above is/are
correct?
(A) Only one (B) Onlytwo
(C) Only three (D) Allfour
20. Mahatma Gandhi visited Odisha in
l.... March 1921
2. August 1925
3.  December 1927
4.  September 1930
Which of the above is not correct?
(A) Onlyl (B) Only2
(C) Only3 (D) Only4
CSP-1/A
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21. Kapilendradeva subdued many feudatory
chiefs who rebelled against him. Which
of the following did not belong to this
category?

(A) The Gangas of Khemundi
(B) The Chauhans of Patna
(C) TheMatsyas of Oddadi

(D) The Silavamsis of Nandapura

22. Which of the following pair is not
correctly matched?

(A) Bichitrananda Das : Kujibara
Patrika

(B) Utkal Dipika : Gauri Shankar Ray

(C) Sambalpur Hitaisini : Nilamani
Vidyaratna

(D) DainikaAsha : Sashi BhusanaRath

23.Where do we come across the
madhavapura mahavihara?

(A) Ratnagiri
(B), Udayagiri
(C) Lalitagiri

(D) Pushpagiri

CSP-1/A
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(C) «Fedd

(D) s



g.

23.

26.

D)

What is not true about the Prajamandala
movement in Odisha?

(A) It was a movement against the
obnoxious taxes and ill treatment to
the subject population by the
feudatory chiefs of the Gadjat states.
Sarangadhara Das, Harekrushna
Mahatab, Pabitra Mohan Pradhan
and Nabakrushna Choudhury were
the important leaders of the
movement, '

It started with the murder of Major
Bezelgate, the Political Agent in
Ranapur.

A State Enquiry Committee was
constituted by the Government
under the chairmanship of
Harekrushna Mahatab in 1937 to
report on the condition of people
in Gadjat states.

(B)

©)

Subei, Kachela and Jamuda, the three
sites in the undivided Koraput district of
Odisha, are famous for?

(A) Jaina relics

(B) Buddhist relics
(C) Brahmanical relics
(D) . Neolithic tools

Consider the following statements
regarding the Rig Veda.

I Ttmentions the Aryans as a cultural
comimnunity.

2. It has many commonalities with
Avesta.

3. Itmentions Saraswati as naditarna.

4. It indicates that the dasyus kept
cattle for dairy products.

Which of the following are correct?

(A) 1,2and3 (B) 2,3 and4
(C) 1,3and4 (D) All are correct
CSP-1/A

11

24.

25.

26.

Al

@R916Q gRINER BIERINE AR 6aRc O]
Q6% ? :

(A) 421 g4y Teq TERUER BICRIRE YR 8
JERIT QUFQ AINS QUIKE QIR SRSl
QU6Q gRATIGR FRaSY AR

(B)

QQEU] @18, 26298 AL6IQ, adg
6FIR QIR 8 ARqY 651YAT ZIERIRE
Q A9QY4 670! a6R

(C) <9l 60120 696aR6TE, QUGIYR Q 66

QAUREHOR 166G & 264 Q AR TR

(D)

1937 32160 26998 ALCISF 2SS
6Q FIRFIEC QIR CRIPT ZLPIATER
F60IC RRQIQ ARFIVT AR 63T QURY
2RI 2gaRIe 4% 08 AR

BN ATQ CHAYS A 6N, REER G
RIQI 92 B6qlT site caae, A} 9de 266 7

(A) 6@ 29689

(B) edla zaqsaa

(C) qige 2esad

(D) qee gge gola @aaad

Q0 699 AR FIRGS LFfewa FoI1R
23 |

1. adiieg Y09 9°0 RUES QB[S BB
2. 2699 9 YRIQ 2R AfIee! 88
3.  @%e® (naditarna) QIse 9261 QERS

288
4, 92 096 969 60 OQY 60I-QYIRAINE
IR 6611g FYAER
fel ey 694G O]
A) 1,263 (B) 2,364
(D) dreg O

(C) 1,364

[P.T.O.



27. Consider the following statements

28.

regarding the Parthians.

1.  They had migrated from Iran.

2. They setup akingdom in East India.
3.  Gondophernes was a Parthian king.

4,  They are mentioned together with
| the Shakas in the Sanskrit texts.

Which of the following are correct?
(A) 1,2and3
(B) 1,3and4
(C) 2,3and4

(D) Only3and4

Consider the following statements about
Sangam literature.

1. The narrative texts are called
Melkanakku.

2. The didactic texts are called
Kilkanakku.

3.  Thirukkural is a major Sangam
text.

4. Many Sangam texts were the works
of brahmana scholars.

Which of the following are correct?
(A) 1,2and3

(B) 1,Zand4

(C) 2,3and4

(D) Onlyland4

" CSP-1/A
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27. g (Parthians) Qies 21R1IG6Q 56 @@

28.

dol 9a |
1. 6QEe 2QI} @ FIRISTG 621RYEA

2. 6Q0I6R Y9 UATER 6GIG FIAE gBgl
@Q26R

3. 6OI6QISreae 6615 QINQ QIR 2R

4, 6aqiee Yo JPesa 69 (Shakas) ae
70 QIEe QERY 6RINYSR |

6g g 69ee OR 7
A 1,263

(B)
©)
D)

1,364
2,364

cean 364

aere AiReY 2RI 7 289eq S9Ia 99 |

1. §goaise edql 621929l 999Q
SARRIRIG FRIAI

2. QQ60dIRf (g9 PRAIGIQ gRIar

3. GQSRIR 62R 66ITY ge Aaa gge

| 4.  260@ AW Jge 62QF QI9 FI9TQ

QI
FORge ANy 69d OR ?
(A) 1,263 |
B) 1,264
(C) 2,364

(D) saenlao4

>t
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29.

30.

Consider the following pairs

1. Amoghavarsha- A king and a
' Kannada poet.

Poet
Jain

Kannada
under
Influence.

2. Pampa

3. Nanniah

Began writing the
Mahabharata in
Telugu.

Jain Poet, who
wrote on Ramayana
themes.

4. Ponna -

Which of the pairs are correctly matched ?
(A) 1,2and3

(B) 2,3and4

(C) 2and4

(D) All are correct

Consider the following statements about
Buddhism.

1. Itwas patronized by the Palakings.

2.  Buddha was worshipped as a God
in Mahayana Buddhism.

3. Hinayana considers Buddha as an
ordinary being who attained
Nirvana.

4. - Vajrayana focused on Hindu
Practices.

Which of the following are correct?
(A) 2,3and4

(B) 1,2and3

(C) Only3and4

(D) All are correct

CSP-1/A
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29, BRAYe cAILg F9IR 99 |

30.

1.  aisqged - 6ElITNY QIR B QIR
@@

2. Qal - 650 gRIRe 9RIS @@

3. QR - 60RLES ARINNAE
ERY 2N

4, caQl - 699 9], 99 QR

Q99 QTER ERYER
AONYS 6918 fag 6896 O 7
(A) 1,263
B) 2,364
(Cy 264

(D)‘ Qafeg Ok

cQIRAe 2RIAsR FIRYS AAIET F91Q 99 |
I N2 0f Qe Q191 g]6a19e 62102R

2. Q20 9F 69 9E6YT RAQIS RER GR
qIRgeR

3. QIRQIR 98G S66 QRIGE G T B8
g1g 2R26m QI6e J9I 96

4, QgaIe T ZRNIQ Q96Q BISRINUIS
*G2em

79 AAIQ 6947 O 7
A) 2,364

B) 1,263

(C) saee3 4

(D) ang o
[P.T.O.



31.

32.

Consider the following statements
regarding Alauddin Khalji.

1. He set up three distinct markets
one for food grains, one for cloth
and the third for horses.

2. A Shahna was posted in the market.

3. The Peasants had to pay land
revenue in kind.

4. Slaves were transacted in market
during his time.

Which of the following are correct?
(A) 1,2and3

(B) 2,3and4

(C) 1,2and4

(D) Only 1and4

Consider the following statements
regarding the Subsidiary Alliance in
British India.

1.  TheIndian ruler signing the alliance
would agree to the posting of a
British Resident.

2.  The Indian ruler could employ any
European in his state.

3. TheIndian ruler would cede a part
of his territory for payment of
subsidy.

4. Expenses of the British army in the
state to be shared with the
Company.

Which of the following are correct?
(A) 1,2and3

(B) 2,3and4

(C) 1,2and4

(D) Onlyland3

CSP-1/A
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31.

32.

ARAER GASIE BRIQER §F) LBAIEF T~

oo | »

1. 6956018 @8 QRIQ RRLER 6QIGT HIY
a4 919, 691G QAP AN 8 GLIaT
EAIFINING QIR

2. 4196 efIesa JF andnl

3. gRIgE SRR gRIea 86 Taq 669 RgasR

4, Q% 969 QIQ-9Y1 GRIREA FA-CFE
ERALER

§6 Fag 6996 0 7

(A) 1,263

B) 2,364

©€) 1,2¢4

(D) seer 164

554 019066 CALR 6914 URIRER FARYS

0@ AIpg S0 % |

. Q019 91990167 65908 qaa IAINg.
AFR FEART RELHIER 67§ QAIRLER

7. QUIE Qe fe aigiea caex1ad
26Q184e g MITYER AYAER

3. Q9010 419 9edf 694 IR 9IFA
Q18 6899 8% 2°9 Anda SaER

4, Q1 92 29101 6291 QIR AUIMER
62608Q 69! QUL QISR

B¢ AaNQ 6990 O] ?
(A) 1,263

(B) 2,364

(C) 1,264

(D) eaax 163

-
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34.

3.

Consider the following regarding the
Revolt of 1857.

1. Indore troops had joined the Revolt
against the wish of their king.

2. Mangal Pandey was executed at
Meerut.

3. Tantia Tope was active both at
Kanpur and Jhanshi.

4.  Sindhia sought refuge from the
British at Agra,

Which of the following are correct?
(A) 1,3and4

(B) 2,3and4

(C) Only3and4

(D) Only1and4

Consider the statements regarding the
nationalist Romesh Chunder Dutt.

1. He translated Ramayana and
Mahabharata.

2.  He was president of the Indian
National Congress.

3. Heaqualified the ICS:

4. He was president of the Bongiya
Sahitya Parishad.

Which of the following statements are
correct?

(A) 1,2and3

(B) 2,3and4

(C) Only2and3
(D) Al are correct

CSP-1/A
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33.

34.

1857 @ge 2rIRsa F9RYeq 018 99 |

. Q6RIa 0f 6AAINEe ANIT agl 9@
YR 6Q QAR FEUEH

2. ogeaces fae 6o T4 daIQIRaRI

3. oI5 60160 RRA MRYR B €IF6a AR
26R

4.  GRar augiea 8§89 qies 0i1g aige
ERIBF2IEM ‘

FANYS ARG 6995 O] 7
(A)
B) 2,364

1,364

(C) eaan3 64

(D) ¢cae a4

FBIACIA QEAT OF QT AR AFAIRG
%10 aa |

[. 69 qieuae 6 PeRIes 2geIe adasm
2. 62 QIGL1Y RITIA 2°69AQ ARIOD 26R
3. 6QICS a1R.9.49. 6@ 2614 62RYER
4. 6 ogg Qe adeea ANTE sh
FARge a@are faig 6add O] ?

(A)
(B)
©)
D)

1,263
2,364
caem 263

g OR

[P.T.O.



35. Consider the statements regarding the

36.

Home Rule League.

1. S. Subramaniya Ayer was on
associate of Annie Besant.

2. It started on behalf of the Indian
National Congress.

3. It changed its name to Swarajya
sabha.

4, Its flag had the Union Flag on it.
Which of the following are correct?
(A) 1,2and3

(B) 2,3and4

(C) 1,3and4

(D) Onlyland2

Match List-I and List-II and select the
correct answer using the code given

below :
List-I List-II
a. Faulting 1. Yardangs
b. Wave erosion 2. Kettle Hole
c. Ice Scouring 3. Escarpment

d. Wind erosion 4, Stacks
Codes :
a

A) 3
B) 4
3
4

—
| ST A B == X

©)
(D)

(V8 =y W E= o
—

CSP-1/A
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35. g2 QKR @6 ARNKER AFAIRG, el /a |~

36.

1. Q. gAY IR 2IR6RAS Q AI6AITIG
g6m

2. N2 RIS RIV1LL K6 FATY 219%
LI EmI

3. «2 @9 910g 9QIsy 9eI6a adeaa
AR

4. <R 99! YEOR USSR 6LIRAR |
Fe PN 6999 OR 7

(A) 1,263

(B) 2,364

(C) 1,3¢4

(D) eaen 162

gaf ‘d gn 990 ‘¢ ga g 6ne @@ | fgea
201029 691¢ g 697 0] waa 92 |

‘¢ ga (List-I) ‘a ga (List-1I)

a of° (Faulting) 1. ade
(Yardangs)
b. 632 REAURR 2. 690w 6LIN
(Wave erosion) (Kettle Hole)
C. AR 62Q° 3. QQRIQYENG
(Ice Scouring) (Escarpment)
d. 298 AsUeR, 4. |ig
(Wind erosion) (Stacks)
e@ig (Codes) :
a b c d
A 3 41 2
B) 4 3 1 2
© 3 4 2 1
D)y 4 3 2 1



37.

Carefully read the following
assertion(A) and reason (R) and select
the correct option from the codes :
Assertion (A): Scandinavian countries have
aregressive age-sex population structure
Reason (R) : The population growth rate
is negative in these countries. For
selecting the correct answer, use the
following code:

(A) Both Assertion (A) and Reason (R)
are true and Reason (R) is a correct
explanation of Assertion (A).

Both Assertion (A) and Reason (R)
are true but Reason (R) is not a
correct explanation of Assertion (A).

(B)

(C) Assertion (A) is true and Reason
(R) is false.

(D) Assertion (A) is false and Reason
(R) is true.

38. Match List-I and List-II and select the
correct answer using the code given below:
List-I List-IT
(Major cultural (inhabitants)
region of world)

a. Arctic region 1. Eskimos
b. Desert 2. The Indians,
Negroes ‘and
Immigrants
c. Latin-American 3. Samoans,
Region Tahitian,
Tongan, etc.
d. Pacific Oceanic- 4. Caravan
Region
Codes :
a b c d
A 4 1 3 2
B 14 2 3
) 1 3 2 4
D) 4 2 3 1
CSP-1/A
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37.

38.

aqea Qaiairgel 9691d (A) 6 «1ad (R) ¢
QR 9g 8 6119 (code) § Ok J9gEQ
QUG |

26912 (A): 2FERRAIN €RANINTER IR
QBAIN LVA-RE FEA°HY QI OEF |

@194 (R) : 1@ 60aq@esa aaaeqyl 980
RRAUAS 988 | O] Qe QBS a9 0] &9
code (6Q19) Q492IQ @G |

(A) 9% Qeei8 (A) 6 2194 (R) 9ée asy
@ied (R) c2a@ 96913 (A) 2 O] SuIsl
26Q

9aG 96913 (A) 8 R1ed (R) ghe aay
@g o1ed8 (R), 96913 (A) @ OR I
Q6%

6918 (A) a3y 6 9194 (R) Fayl aee

Q6918 (A) Al 6-e1ad (R) asy 26e

(B)

(©)
(D)

elRe I 6 Il @ 600 @ 6 Ggea TaAIRgQl
6@12 (code) guq 60 Ok a8Qd QI |

ag-I og-11

(Gga gas Q°qee 689) (@)

a. gerq 688 1. @@equ -
(Eskimos)

b. aquf 2. QUee1d, 69l 6
JeQsIoyIal

(The Indians,
Negroes and

Immigrants)
C. REFG-2enRIL 3. asqiag,
2AES clgeiq,
6RIARIR 99
(Samoans,
Tahitian,
Tongan, etc.)
d gasaRiesa 4. QR
28e (Caravan)
691¢ (Codes) :
a b c d
A) 4 1 3 2
)1 4 2 3
€ 1 3 2 4
D) 4 2 3 1
[P.T.O.
i |



39.

40.

Match List - I with List - I according to

Koppen’s Climatic classification system

and select the correct answer from the

codes given:

List-1 List-1I

(Climate Types)  (Characteristics)

a. Af i. Humid
Tropical
Climate

ii. Tropical
Humid and
Dry climate

iii.iMonsoon
Climate

iv. Dry Summers

c. Am

d As
Codes :

a b ¢ d
(A) 1 il 1 v
B) i it 1 ™
(€) i i 1 ™
(D) iv il i i

Given below are two statements, one

labelled as Assertion (A) and the other

labelled as Reason (R). Select your

answer from the codes given below:

Assertion (A) : The Peru desert is

recognised as a Cold Desert

Reason (R) : The temperature of

Humbolt current plays a dominant role

in controlling the surface atmospheric

conditions of the coastal areas.

(A) - Both Assertion (A) and Reason (R)

are true and Reason (R) is a correct

explanation of Assertion (A).

Both Assertion (A) and Reason (R)

are true but Reason (R) is not a correct

explanation of Assertion (A).

(C) Assertion (A) is true and Reason
- (R) is false.

(D) Assertion (A) is false and Reason

(R) is true

(B)

CSP-1/A
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39.

40.

(©)

‘CRIEAQ" PRIIY AT1RRE MAQI AGAER SIRGL.

- I ag oIRel - I @ 6008 @] G FY6a gt
aagIael 6218 (code) @ 0] @eet oae
aa |

olael-I glaa-11

(GRQIY gRI 68Q) (aaq)

a. 4.4 (Af) i e a9e1a
IR

b. @3(Aw) ii. gigngea 6 ge
FRAY

¢. ¢.4¢ (Am) 1ii. 641G @R

d. <.qq(As) v. 93 gIgeIe

ea1@ (Codes) :

a b ¢ d

(A) i i il v

(B) ii iii I W

(C) iii i 1 v

(D) v 1o 1 it

Gg6a 9Rt @@ FURINE, 69169 Q61
(Assertion) A e 2ai@ @iad (Reason) R
60 QUGN 691¢ Q A COR @9F |

6L (A): 609 FQEN] €168 AR Q AIFYSI

eg |

@i1e8 (R) : gsaix (Humbolt) 6giea ciasigl
QUERTR! FERA QUYL AYAAR o] F0ae
RAIER 99 AR ged @GN |

(A) e6aIeg6e1@ (A)6 aied (R)asy zi6e
6 21961 (R) 6208 96918 (A) @ O] SHIS

(B) onbaie 691@(A)6 aied (R)aey 2ee
@q 2104 (R), 96913 (A) @ O Quisnl

Q6%

Q6918 (A) sy 26e 6 @ied (R) Gay
265

(D) 9691@ (A) fau 26 6 9104 (R) aey

2iee



.4l
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Match the following with respect to the
occurrence of races in List - II to the type
of Races in List - I.

List-1 List - II
Races Area of Existence
a. The Turko- 1. Rajasthan and
Iranian Punjab
b. Thelndo-Aryan 2. Odisha and
Assam
~ ¢. The Scytho- 3. WestIndia
Dravidian (Gujarat to
Karnataka)
d. The Mongolo- 4. North Western
Dravidian Frontier Agency
Codes :
a b ¢ d
A 4 1 3 2
B) 1 4 2 3
< 1 3 2 4
Dy 4 2 3 1

42,

India is an agricultural country, where
most of the population directly or
indirectly involved in this sector.
Regarding agriculture in India, which one
of the following statements is/are not
correct?

1. Bajra is a Kharif crop, which
requires 25°-31°C temperature and
40-50 em rainfall.

2. Cotton is categorized into three
groups long-staple, medium staple
and short-staple.

3. Currently, India accounts for about
50% of the world’s total jute
production.,

4. India is the second-largest
producer of silk and the largest
consumer of silk in the world.

Select the correct answer using the codes

given below: _
(A) 2and4 (B) Only3
(C) land2 (D) Only4
CSP-1/A
' d
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41.

42.

@Iggel 2gaiex QIRRl - II a%¢ okel - I @
CARR QIR - | ag aag

eIRgl-I giRa-I1

9/q0 2EQ 698

a. QE-2qle l. Qege 6 agIQ

b. @Ea-2ae 2. 6ga G

C. dixc-QRGae 3. ofd4 @ee
(YERIe @ AdisR)

d qearp-g@gae 4. eaa a9da aiKue
QBN YIS

€212 (Codes) :

a b ¢ d

Ay 4 1 3.2

B 1 4 2.3

C) 1 3.2 4

o4 2 3 1

QUG 6208 1@ QIR 624 6ALOIER ANRIE
SEAHYI ZOIB DIER Gl LGS NIER 1T 6TFER
Gealas 288 | WIe9sa 9F evegl 9dq 6@
Age 6Rd 08/ed gFe ey 6% |

1. Qa9 4@ aar, aigl 25-31%e

glaaigl 9e° 40-50 ca§fica edl
2R A6Q

2. QI 06RIT Q/g9i9 68 ARg SRIKIN
- QIERIQ, AUIARA 8 JFRIL

3. Q|fIe §46Q 6716 61T RYINER
RVER QIR Fiaes 50%

4. @196 §9a <018 9297 6044
QUIGRRIQT 604 9Q° QTR 6QIN
QIR 1 624

aqea TaaIRgel 6R19 (codes) 949219 o
0) 2t Qg |

(A) 264 (B) saa% 3
C) 162 (D) coee 4
[P.T.O.
4 4



43. Match important projects in List-Iwith | 43. efei]sa a9 n2gqd gog 92 oina I 6o -

the area of implementation in List - II oo gaIge 688 (implementation) Q2 6fee e
and select the correct answer using the Qa 6 Ggea IR 621¢ (code) yeeia
code given below: @8 0] @eR © oA a9 |

List-1 List-1II e@el-I cip@-1I

Multi £
(Multipurpose (Area/ Place o (R199 @ 9g9% 998) (99199 698 / 9I9)

Projects in India)  implementation)

a. QFINg 9gae l. e @ @
a. Tungabhadra 1. Lower Wog gl q

998 RUSYR, A
Multipurpose Narmada Valley, |- b. adia QcaIa 2. CRREAIQI QIR
Project Gujarat qeg CERAIR
b. The Sardar 2. Nalgonda c. AQIGR AR geg . 3. 2IRQsed @
adIee
Sarovar district,
Project Telangana d ARER I8 4. agle, 201l 6
RASYR
¢. Nagarjuna 3. AndhraPradesh
, 6212 (Codes).:
Sagar Project and Karnataka
d. BhakraNangal 4. Punjab,Haryana a. b wc d
Project d Rajasthan '
rojec and Rajas W12 3 4
Codes:
a b ¢ d ® 2 3 1 4
a1 2 3 4 © 3 1 2 4
By 2 3 1 4
© 3 1 2 4 My 4 2 1 3
D 4 2 1 3

44. < Among the following options which | 44. &qeq ae1 Gag Aug 694 096 GGaaT a0
mountain pass doesn’t belongs to the QUSIR G6F ?
t state? :
Yy s (A) &g @ (Shipki La) — 2aiee geed
(A) Shipki La — Himachal Pradesh
(B) Aghil Pass — Uttarakhand
(C) Dipher Pass — Arunachal Pradesh

(D) Jelep La— Sikkim

(B) 29§ 916l (Aghil Pass) - @eisig
(C) % ad (Dipher Pass) —> 286w g6ad!

(D) senq @ (Jelep La) —> d@e

CSP-1/A 20



45, Which of the following factors are

»

46.

47,

responsible for breaks in the monsoon?

I.  Origin oftropical cyclones in Bay
of Bengal

I.  Erratic behavior of 2™ equatorial
troughs

Inadequate heating of Tibetan
Plateau

Southern Branch of South West
Tropical Jet re-establish over
northern India

Choose the correct options from below:
Options:

(A) landIV

(B) LIlandIIl

(C) LIandlV

(D) IVandII

Which of the following river/ rivers are
exhibiting the antecedent drainage
pattern in Odisha?

(A) TheMahanadi and the Brahmani
(B) TheBrahmani and The Baitarini
(C) The Mahanadi and the Baitarini
(ID)... The Baitarini and the Rushikulya

Black Earth soil has been developed in
which region of Odisha?

(A) Brahmani Basin

(B) Mayurbhanj

(C) Anugul - Athamallik and Boudh
(D) Sambalpur Valley

CSP-1/A
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43.

46.

47.

A068! 198 GBS AN 62RT §R9Ig abeeR
QI QDT 2G|

[ QEENQQIgn 69 REa AN AYRER
26

I {10 3ge6as @ 2hadie/2da a4eeR
M. §eana aegdia 2adyg eald

IV. <84-9§0 qiEa 620 @ @84 418 Qe

QURE QA6 ¢rYITe eRIaR
0] @a9s Q18g
Ieg :
(A) lalV
(B) LIlell
(C) LIgIV
(D) IVl

B6Q DUIQINGR FL1/9GER ARG CRAT
65910 I 99 F9IQAR A geds 998 |

(A) Qe 6 Qg
(B) <igén 6 6364
(C) oeee 6 cTeodl

(D) cReqdl 8 adgayl

GBI 679 2BREA QW JRRIQ Sel a6% 2
(A) <QIgen 2eiEal

(B) ageem

(C) agam-21003e @ 618

(D) <nRga 209491

[P.T.O.



48. Match the morphological units of

49.

Rolling uplands (List - I} with the correct
river basin (List - II)

List-1 List-1I
(Morphological (Basin Associated)
Units)
a. The Rajgangpur 1. Ib Basin
- Panposh
Uplands
b. TheJharsuguda 2. Northern Tel
Uplands Basin
c. TheBalangir- 3. TheSabari
Titlagarh - Basin
Patnagarh uplands
d. TheMalakanagiri 4. Koel and the
Uplands Sankh Rivers
Codes :
a b ¢ d
A) 4 1 2 3
B 1 2 3 4
@< 3 2 1 4
D)2 3 1 4

Which of the following is associated
with Chilika lake?

L First Indian wetland under the
Ramsar Convention.

. Irrawaddy dolphins
1.

Select the correct answer using the code
given below:

(A) IandIIonly
(B) TandIlionly
(C) Ionly

(D) L1TandI

Lacustrine plain

CSP-1/A
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48.

49.

@@ 9fieq @0laN 6 agIdl (A - I) @ goeq
ag (eRal - IT) 6a g9l 602 aola accie?
A2 6617 IR ? 699 @9 |

QImal-I eial-11
(gg0g @) (/91 @°YQ ae@a!)
a. QRIS 1. a& (Ib)
- AIREAIY YSQILR
QEQIGH
b. ¢I9gQel agaial 2. 69RRIT Qe
ASQIER
C. YRIGR - TRAE 3. QXA G4
- JIF€IFR QG 2SRRI
d. ARSI QRAIT 4. ERIMR G A% [
(Koel and the
Sankh Rivers)

6216 (Codes) :

a.“b ¢ d
A) 4 1 2 3
By 1 2 3 4
< 3 2 1 4
Dy 2 3 1 4

366119 FRING 6706 TR 22 996 °ge/ARY
2eC |

L Qe a@es! 28de 92¢ Uee1 219
Qf

I oGEeeds

III.

P60 B21919891 6212 (code) 68a O] @aad
QUL |

(A)
(B)
©)
(D)

Zlrge Qe

sean [ all
eaarlglll
eqaq I
LIIgIII



0.
ﬁi

51.

52.

Odisha experiences which types of
climates according to Koppen’s climatic
classification?

(A) Tropical Savanna
(B) Humid Subtropical
(C) Mediterrancan

(D) Subtropical Steppe

Which of the following statements are
correct in respect of ‘Objective
Resolution’ of Indian Constitution?

(1) TheAuthor ofthis Resolution was
Dr. B.R. Ambedkar

It was adopted by Constituent
Assembly on January 22, 1947

(2)

(3) The goal of this Resolution was to
declare India as a Sovereign,

Socialist, Democratic Republic

This Resolution later framed as the
Preamble of Indian Constitution

land 3 (B 2and4
1 and 4 (D) land2

4)

(A)
(&)

4

Which of the following statements are
correct in respect of ‘Constituent
Assembly’?

(1).. . The Constituent Assembly was
constituted under the scheme of
‘Cabinet Mission Plan’

(2) The total strength of Constituent
Assembly originally was 369

296 seats were allotted to British
India

73 seats to Princely States
Zand3 (B) 3and4

1 and 4 (D) land3

(3)

4)
(A)

©

CSP-1/A
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50.

51.

52.

6210R AR 9OIRRd 2GAER BFHIER 6QQ
R0 IRRIY AFNS 29 ?

(A)
(B)
©)
(D)

2Ig a9q
2 QUFITA
GFRNY AITRI

QagIee 69Q

Qee1a Qfiuea ‘Objective Resolution’
AANER F6LIQ UG F11Q 6965 0] ?

(1)

42 Q6RIane aelel eqa @. a1e.
2CASTA 26w

(2)

1947 adal qigaiat 22 6q QfIG Qe
QI 921 gL, 6RIRgM

VGG IR AL, AFSTI, FHSIRS
FEQRY NIET €A IFEI RV QI 9F
FERIPITRR AQY AR

(3)

(4)

I8 FERNPILE V6Q RKUAGIL ARUKY
g (Preamble) @i6e gge 62198

183 (B) 264
164 (D) 162

(A)
(©)

QRS AR’ A AREQ FEQIQ B ARG 6aUT
oR ?

(D

‘Cabinet Mission Plan’ sieq!
21969 QAU ARl 900 SRR

)
3)

QRNIG ARIR )@ I°HI g 369

ade adalg 296 § d¢ ziess
RUAIR2@

(4)
(A)
©)

62818 QUG 736 218
(B) 364
D) 1@e3

263
164

[P.T.O.



53 Consider the following pairs in respect | 53. 'R1Q910 QAAING QY AANET TEQIQ CAIGIR

of ‘Sources of Indian Constitution’ and eolQ @a 9 0] €Reg Qg | L ¥
pick up the right matchings.
Item Source 21954 (Item) aa (Source)
(1) Office of - England (1) esvaes adies - aRS
Governor
: (2) eRIREARIZIEAIT - QUAS AR
(2) Public Service - Govt.ofIndia 2aRaa-1935
Commission Act-1935 _
(3) SyeQie 8 Qidey @ - 9Nav
(3) Freedomof - USA QRIGS!
Trade & ® -
(4) QRue gQeeea - zegqal
Commerce QUS|
(4) TheLanguage - Australia
of Preamble of (A) 162 (B) 263
Constitution ©) 2064 D) 364
A) 1 and 2 (B} 2and3 :
(C) 2and4 (D) 3and4

54, Which of the following Articles of 54. a6t QAR 624 aIal (Articles) aaga
Indian Constitution are not related to qLe AARG Q6% 7
each other ?

(1) Art. 12 and Art, 36
(2) _Art. 13 and Art. 368
(3) Art. 22 and Art. 32 (2)
(4) Art. 141 and Art. 214

(1) wian 12 6 e 36
(2) aie 13 6 uiqu 368
(3) @22 6 i 32 (2)

(4) uel 141 gual 214

(A) 2and3 (A) 263

(B) 4 only (B) 469

(C) land3 (C) te3

(D) Allarerelated (D) QgaFe aade
CSP-1/A 24



‘55. Which of the following statements are
correct in respect of Lame Duck
Politician?

”»

ey
(2)

(3)

(4)

(A)
(B)
©
D)

56.

Having lost a re-¢election bid

Choosing not to seek another term
after expiration of his/her term.

No term limit running for
particular office again

Abolition of Office after his/her
official term

1,2and 4

2,3and 4

None of the above

All above

Which of the following statements are

correct in respect of Basic Structure of
Indian Constitution?

(1
(2)

(3)

4

(A)
(B)
©
(D)

CSP-1/A

It is a form of Judicial Review

It is used to test the legality of any
legislation by the Courts

The Doctrine of Basic Structure of
Constitution gave.free hand to
Parliament to amend any part of
Constitution

The Constitution of India defines
‘basic structure’ in terms of
Federalism, Secularism,
Fundamental Rights and Socialism.

land2
2and3
1 and 4
3and 4

25

55.

56.

"Lame Duck Politician' & a*adsq &9
R9YE9 Aug 6995 0] ?

(D
(2)

()
(4)
(A)
B)
©)
(D)

Jedia 39I08 QF 0aIRe 6TIRLR

30 QISR 64T £ERIN6R IR 99
QIR @ 609 QIR ABGI

o8 QIduee Il QIAHRIR AT ARFE
Ge6 298191 AIGIKIS A6 UL A6
1,264

2,364

QUCRIY 629G gow

zia[eliagnigial

LIFGE YAMEQ AR RIBI ANIER G679
RGJER FANg 690G O] ?

(1)
(2)

3)

4

(A)
(B)
(&)
D)

@1 99 gRIQ Q919 Iida aaidl

616 QIql 691ad aRee RS aeal
FAGI QIR YR SYITIT FQILIREIN

QAdIea e61FR IR daie 92
6REAAT 2°a6Q ACARR TIN A°ALG
£ 29 g9 R

KRR ARG AUAQ, UTFAEATE,
6F0Q ZRIR e ATIRRIL QUER 661RR
gEIg 0daude aRag

162
263
164

364

[P.T.O.



57. Entry 5 of List Il of Seventh Schedule of

Indian Constitution deals with -

@)
®)
©
©)

38.

Public Order

Public Health

State Pensions

Local Governments

Which of the following statements are

correct in respect of Art. 243 of Indian
Constitution?

(1)

2)

3)

4)

(A)
(B)
(©
(D)

CSP-1/A

4

Art. 243 (C) provides
representation of chairpersons of
Panchayats at the Village level in
the Panchayats at the District level.

Art. 243 (D) provides
representation for women to the
offices of chairperson in
Panchayats at village level.

- Art 243 (]) is related to power to

levy taxes by Panchayats

Art. 243 (J) is related to bar on the
courts to eall in question the
election of Panchayats

2 and 3

land 4

land 2

1 and 3

26

57. «eia QAuIea Agf 2qgee eRe Il e
g6ed 5 Ae 6 “

58.

(A)
(B)
©
D)

Qoeiel glead

FeIg

QY 6AFAR

FIR1E daRia

Q9018 Qflaee aIQl 243 QaQsa F6aIQ
QAYER AIQ 699E OR ¢

(1)

@

3)

(4)

(A)
(B)
(©)

D)

diql 243 (C) A 496@ A8I19069
FINgRER TEING 2Pew JohaE g
aQee

gl 243 (D) 9199aa d8I8egeasa
2RIGE AIdURAY AFRIF A9 gERNLR
Qegl QEE

aiQl 243 (1) ogige Qe §ed 2191
QAR AAGI AT ARG

aiql 243 (J) azige G699 R46Q 94
QOIRS! Ui 6RIE QTR JEI8R AGIRSI
qe aale

263
led
162

163

x

)



59. Which of the following statements are
correct in respect of the Election

Commission of India?
(1) Itisan autonomous Legal Body
- (2) Part XV of Indian Constitution

deals with the Elections and the
Election Commission

(3) The Election Commission was
established on January 25, 1950

(4) Art. 328 provides bar on the
interference of Courts in electoral
matters. -

(A) 2and3

(B) land4

(C) 3and4

(D) 2and3

60.

Which of the following Committees

recommended for the creation of ‘Nyaya
Panchayats’ at villagelevel?

(A)

(B)

L.M. Singhvi Committee

G VK. Rao Committee

(C) Mohan Kanda Committee

(D) Ashok Mehta Committee

CSP-1/A
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59. QIEEQ AEE FFIRE QAR FERIg RGeS
g 6% O] 7

60.

(D)

(2)

(3)

4)

(A)

(B)

©)

(D)

<421 4R oI 2RRAS g

ASGIG AANIFE TEQE RAUTER TP
8 GQler efane AMNNER AGHE 9F8

1950 qigaien 25 60 Gateq afiae ¢ide
622K

2151 328 BII00 AITRIEH 6RITR 2g68Y
QUER JOIRR AR 29

263

led

364

263

dIft gosa |21 ABINegEea Q§ AW F6gI9
6q¢ ¢Fi¢ ggie soagen ?

(A) 9. e TS Fe

(B) @. Q. 6q. qug «B%

(C) sqiee 2@ @66

(D) =ea@ enees «FF

 [P.T.O.



61. Which of the following statements are
correct in respect of ‘Attorney General
ofIndia’?

(1) Attorney General of India is a part
of Indian Judiciary

(2) Attorney General of India is
appointed by President on the
- advice of Chief Justice of India

(3) The term of office of Attorney
General of India is not fixed by the
Constitution

(4) Attorney General of India has right
to take part in the proceedings of
both Houses of Parliament.

(A) 1,2and4 (B) 2and3
(C) land3 (D) 3and4

62. Which of the following statements are
correct in respect of Bills introduced in
Parliament?

(1) IfaGovernmentBill is rejected by
the House in Parliament it amounts
‘vote of confidence’ in the
Government

(2) The Government's Bill introduction
in the House necessitates a
fifteen-day notice

(3) . The “Taxation Laws (Amendment)
Bill 2021’ comes under the
category of Money Bill

(4) The Central Universities
(Amendment) Bill 2021 comes
under Ordinary Bill.

(A) land4 (B) 2and3
(C) 3and4 (D) 2and4

CSP-1/A 28

£ A

61.

62.

AURGR IS CIERANT AR Fq 2dgee -
NG 6998 0] ?

(1) 21068 215 686R2IA WIAG14
MNOARRIQ 9K 2°G 26T

(2) @199 QAIF MRS ARAHER
QUIABS QA ARG ICE EFEFAUR
£98 228

(3) QIR QIR RIAEA LY EFERARST
QIR §9 6RRRT

(4) @aeq 298 Jex FILIEa AU 6/
ZRRIN NAGR 2ISY 6R6TRRR QLT

(A) 1,264 (B) 263

(C) 163 (D) 364

QAR TGS €NRYQ! FEUARYFR dARER
q6019 0998e fug 6R4e O] 7

(1) 2@ exled QoRIe! R QAR g6
gouIHYIe @¢ 696 YLl ARRIAT AR
2lg RIS A6 6RIRAN

(2) qe6a deRI F6uAR AAYPAR VIR AR
TR 6Rl5q 21Ny |

(3) FeQ (aeqre) Jeuaa 2021 ad
Seuae Qoea adad

(4) 69R0 GqIevea (T6ae) Feuae
2021 Q194 S8R 2N6R Sdelg

A) 1e4 B) 263

() 364 (D) 264

e 4



63.

L

64.

Which of the following statements are
correct in respect of ‘Types of Majority
in Parliament’?

(1) Absolute Majority -More than 50%
of the House’s total Strength

(2) Simple Majority - The majority of
more than 50% of those present
and voting

(3) Effective Majority : Majority of
the House’s effective strength.

(4) Effective Strength : means total
strength excluding number of
vacancies

(5) Special Majority : Majority of
2/3 members of total strength of
the House

(A) 1,3,4and5

(B) 2,3and5

(C) 2,3and4

(D) 1,2,3and4

Which of the following statements are
correct in respect of ‘Sittings of
Parliament’ ?

(1) In the year 1955 a Lok Sabha
Committee had proposed.a time-
table for parliamentary sessions

~ with three times a year

(2) ~Ttsuggested Budget Session from

Eebruary 1, to May 7

(3)

[t suggested Monsoon Session
from July 1 to September 10

(4)

It suggested Winter Session from
November 15 to December 15

land 4 (B) 2and3
1 and 2 (D) 3and4

A)
(€)

CSP-1/A
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63.

64.

@

QAGER T RGN IR TARER FK6Q
gQl 239Ee AuQ 6905 OR ¢

(1) ?[RGEe THIGFS! - §aa 91T IR
50% q aye

@

ARIRE AHMISEFS - WIS @ RIS
69aESt Qsuia 50% g 2@

(3) gV LIIGTFS! - G2 UNRIG IS

Qe (Qegr)

gRIg1 ANy - 22Ie IR 90T LHIG
QIQ 698 AYIT QI TG

(5) <QoR LHINIAFE - Lo A ey

QIR 2/3 (9R §OIAIG) QIS 01,
IS

1,3,485
2,385
2,364

(A)
(B)
©)

(D)..1,2,364

‘e Q39 2AR6a FeqIe 2EIeR Aug
60@G 0R 7

(1) 1955 adeica 98 saleas! AT
QAB BYEIR AR edg FRaa ana

i1 g9ge RARIQ JYIS 6ARARI

(2)

6TQUA1 1 Q 671 7 OLIHS Q68 HRIERAR
afie 92 aQNd soaml

(3)

gaie 1 g 6aeqna 10 adie ealga
ZESEG BHia 9T UAE R

(4) eewna 15 @ Geana 15 adus
S1ERARNG 2NERIR FFR YL ARUAE

caRaml
(A) 164

©)

B) 283

162 D) 364

[P.T.O.
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65.

66.

Which of the following statements are
correct in respect of ‘Procedure
established by Law’ and ‘Due process of
Law’?

(I)  Under the principle of ‘Procedure
established by Law’ , as long as the
government  follows  the
procedures 1t has established, it’s
actions are considered valid, even
if they may appear unfair, or unjust

to individuals

‘Due Process of Law’ doctrine not
only checks if there is a Law to
deprive the life and personal liberty
of a person but also sees if the Law
made is fair, just and not arbitrary.

(1)

‘Procedure established by Law’ is
an American doctrine and ‘Due
Process of Law’ is Indian
constitutional doctrine.

(111)

I is correct and II and III are not
correct

(A)

I and IT are correct and III is not
correct

(B)

I and III are correct and II is not
correct

(©)

I, Il and I1I are correct

(D)

Which of the following while pursuing
common interests of their Groups,
attempt to influence the Public Policy
making?

(A)
(B)
(©
(D)

Pressure Groups
Elite Groups
Bureaucracy

Political Parties

CSP-1/A
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63.

66.

208 QA dege g’ et ‘Aeee @y
goal’ Anmea G7ER FUINIRAR REFER F1
£0R0 09 ?

IR QIR gOFe gaal'Q /18 26,
ARRIQ 60 ALy 2 gRalg 29aed
AR, 6Q aAdiB 121 RILYY 6@ 6QIR
QEQOR! @RUANM Q6 6AgRR MFFIeT
gé @glbe @ atoIa 6RIR QAR
62INTI6A

M

‘2R Iy gRel’ NS 669R K64
QPR IR @ QIS YRIFSIQ 0L
RAQIQ 2GR 28 @ AIF G120 QB AR
QIE 9Q° IR 62INAS! ARG 09E,
QUIBgE NS 69I0IR1 & G6S FITI 676

(1)

(III) ‘ziee Rl gede gaal’ 9a ALAAR1R

daIg 99° ‘2NER g gRel’ 6298
QAREIL ARG RIS
(A) 0% zec 9o 11 6 ITI O qe<
(B) I6IlI0Q aee ve° Il 5Q ges
(C) T6Ill5x zss we° I O] q6<

(D) LIGIIoga6e

FeRIg AUg 6e9F Fe 6AIgIa ARNKE Qg
AR ARSI AAAER ARG Q1F FSIRE]
gaiee @aeIg 608 gaid ?

(A) <10 69191 Q9L

(B) <ge sqig

(C) zoRies

(D) Qeshee aagee



7.

¥

68.

69.

During which part of the ‘public policy
cycle’ does the government explore
potential policy responses?

(A) Values setting
(B) Policy formulation
(C) Policy implementation

(D) Policy feedback

The final six months of the Election

cycle, when the government announces |

popular government initiatives is known
as -

(A) GreenZone
(B) Yellow Zone
(C) RedZone
(D) Blue Zone

Which of the following are the features
of ‘Good Governance’?

(1)
2)
€}
(4)
(3)
(6)
(A)
(B)
©)
(D)

Accountability
Conservatism
Rigidity
Transparency
Integrity

Micro Management
2,3and6

1,2and 6
3,4and>5

I,4and 5

CSP-1/A
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67.

68.

69.

‘@2a1@ g (Public Policy Cycle) @ se
o8 QA6 ARG AR 18 9FFale
AGLNR 99T 7 '

(A)
B)
©
(D)

Ry SRIeE
18 GRS
Q18 QIuIQae

@16 gbq8

RAI9R 0FQ 6AQ 82 AIQ, 6J60636R AR
ERIPTE ARRIQN QLAY CAINE KQF, 9L
QRIAN |

(A)
(B)
(©)
(D)

JIR 691
606RI 681

60@ 68N

qeeIR

feqIa ﬁaq ERUE QAIIRR 6TAWY 26T ?
(1)
(2)
(3)
4)
(5)
(6)
(A)
(B)
©
D)

ARQ QI8
QREAIRES!
RE0IRG!
dgel
Q6RIGR!

QR ag0Iea!
2,386
1,236
3,485
1,485

[P.T.O.



70.

71.

Which of the following are true about
Public Policy?

(D

Itis a way of doing things including
rules and regulations

It is a means of ‘authoritative
allocation of values’

(2)

It is for Public Sector

Organisations

3)

‘What the Government choose to
do or not to do’

4)

(A)
(B)
(®)
(D)

1,3and 4
1,2and 3
2,3and 4
All above

Which one of the following statements
is correct in respect of Art. 21 of Indian
Constitution?

(1) 1t guarantees Right to Life and
Personal Liberty

In the case of Narmada Bachao
Andolan Vs Union of India 2020,
Supreme Court held that ‘Right to
Water’ is not a Fundamental Right
but Legal Right

(2)

(3) Rightto Water is inferred from the

Right to Life

(4). The Supreme Court also held that

access to Clear Water is a Natural

Right
(A) land3
(C) 2and3

(B) 2and4
(D) 1and4

CSP-1/A
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70. aee 716 (Public Policy) dagea fegia

71.

AuQ 69ad 0] ?

(1) 42613 6 MAAISR AEAS RILY ANISRR
qQ Il

()

21 RIS ANRIRD LR 9D
e

(3) g eIgLe g A6 A8
(4)
(A)
(B)
©)
(D)

Q0910 '8 €391 6 7 9ae A SEaIE
1,364
1,263
2,364

LdeUgy 4Ag

QD afuiea Ml 21 ane6a 7691Q

GFgEe auq 694l OR ¢?

(1) <2 QRSS! 6 FIERQ AU AUIEeF
62

‘AFlQl 9018 2IERINE @RI RAG AL
28212020’ AInRIsa 9aA 6Ric KRR
69 @R QIR FIRS ANRNIQ 6L, 2l
2RRTE TSI

2)

3)

% LA KRR ARG 21E]

9dn 6aId a1 FgE A1 AN YRIER
ZNRIG 6QIR FTYSR

(4)

(A) 163 (B) 2064

(C) 263 D) 164



From which Constitution ‘Suspension of
Fundamental Rights during Emergency’
was borrowed to Indian Constitution?

(A)
(B)
©
D)

73.

Soviet Constitution, USSR
Weimer Constitution of Germany
French Constitution

Swiss Constitution

Which of the following statements

are correct in respect of ‘Right to
Education’?

(1)

(2)

(3)

(4)

(A)
(B)
(©)
(D)

CSP-1/A

Art. 21(A) of Indian Constitution
provides Right to Education for

free and compulsory education to
all

Right to Education Act was passed
by Indian Parliament on August 4,
2009

Right to Education came in to force
on November 14, 2009

Art. 21 (A) was inserted in the
Constitution by 86" Constitutional
AmendmentAct, 2004

land3
1and?2
land 4

2and 4

33

72. 60 QAAIGY ‘FQQl QAL &T1RG ZNRIGN
oRAe’ RIFSID QAMSY ANIKISE ?

73.

(A)

(B)
©)

EQAIRE QRAUIR, QIR
66 AR, F¢INT

68 Afae

(D) §qqfueg

‘FEl AYRIQ A6 FEIg 2WYPe qug
6026 OR ?

(1)

(2)

(3)

(4)

(A)

(B)

©

(D)

9e1R aRAee digl 21(A) argg
AISIEN 8 QRIFINRS S8 BAR 11 2y
[l =al

2009 z6g 4 6a YUAGID A°AS QR
91 2R AFAF QRIS 6LIRAR

2009 qsena 14 sa gl 24219
AR RIY 6T

86 aa gfuie asare aaan 2004
Qal adugea aixl 21 (A) a2ge
FQUARI

163
162
le4

264

[P.T.O.



74.

75.

-Which of the following are related to

‘Right to Privacy?
(1) Art. 21 of Indian Constitution

(2) Art. 12 of Universal Declaration of
Human Rights

(3) Art. 17 of the International
Covenant on Civil and Political

Rights.

(4) Art. 8 of European Convention on
Human Rights

(A) 1,3and4
(B) 1,2and3
(C) 2,3and4
(D) Allabove

Which Article of Universal Declaration

- of Human Rights tells thatthe ‘Right of

Nationality’ depends on one’s wish.
“Every one hasthe Right to a
Nationality™?

(A) Article 15
(B) Article 20
(C) Article 25

(D). Article 30

CSP-1/A

74. ‘1R96 €IARIAG AYRKIQ' LUK @6%

73.

699% 0R ?
(1) e dues die 21

(2) Ae8e YRR ALRIE €IV
ARl 12

(3) fIOfe G QUIHTS 2} QAAER
218918 ggaIcIa aIa 17

(4) 9691918 AIRES AYRIQ AEHRAR
diql 8

(A) 1,364
B) 1,263
©) 2,384
Qa6aIg AN

D)

AIREQ 2RQIR AGTRIE CATEIR 696 Al
‘RGN 2YRIQ FIFA Qg RWEQ FeR
RG24 6Q14 KL | “gesin I 1R FI918

. aNQie 28 1"

(A) w15
(B)- el 20
(C) 25

(D) e 30



With reference to inflation targeting by
the Reserve Bank of India, consider the
following statements :

1. InMay2016,the RBIAct, 1934 was
amended to provide a statutory basis
for the implementation of the
flexible inflation targeting framework.

2.  Under Section 45ZA, the Central
Government, in consultation with
the RBI, determines the inflation
target in terms of the Consumer
Price Index (CPI), once in five years.

3. On March 31, 2021, the Central
Government retained the inflation
target of 6 percent with the
tolerance band of = 2 percent for
the next 5-year period - April 1,
2021 to March 31, 2026.

Which of'the above statements are correct?

(A) land2only

(B) 1and3only

(C) 2and3only

(D) 1,2and3
77. Which of the following statements are
true in relation to the G20 New Delhi

Declaration?

1.  All 83 paragraphs of the 2023 G20
New Delhi Leaders’ Declaration
were unanimously approved.

2. It didn’t feature the conflict in
Ukraine and its subsequent
economic implications.

3. The declaration stressed the
urgency of mobilizing US$4
trillion per vear for clean energy
technologies by 2030.

(A) land2 only

(B) 2and3only

(C) 1and3only

(D) 1,2and3
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77.

deel euiw 2 adal QA gQIie K|y URIK
62 BORYS IRy JERR Fola @ |

1. ea 2016 sa 210.5.219 2ies 1934
60 Q6 FAITIR FAREA (19118 RJY
GBI QITIQLR QIR 98 TUE® SRUIQ
gole aaIdigal |

2. 9% qizedeq 268 HIRGT MY 4919
21916 RYg 219.8.2I1Q 92 a4 a3
QGG I9RIR FEIQE FGAIE : 121 45ZA
IR 2IGAILH

3. qig 31, 2021 5@ 695 IRI9 aReel
aiged <wdn 1,2021 9aig 31,2026
Adis 6 gE90 ALRTIR QYIg 92 GRS
RAYY e agaUM

QUERIG 6aa A0 3]
(A) e@ae 182
(B) egea 163
(C) caen2i3
(D) 1,283

Gahge @@ aee aug G20 QuIdq saiEdl
21GQlee 6296 OR 7

1. 2023 G20 qaiEq! exels 6184169
ang 83 agegq aeasagen agende
62IRR

2. 26Q PERAR QR 8 99 2fe gaIe
LU ARG FAR

3. <@ sa@aiinn 2030 g8l 9% 98 948
gin edg US$4 adaie adciea
JQIEHT SRIIAT

(A) eeep 162
(B) eaee 263
(C) emanla3
(D) 1,263

[P.T.O.



78. MGNREGS is recognised as ‘core of the

79.

core’ scheme for achieving Sustainable
Development Goals in India.
MGNREGS was reported in the
Voluntary National Review (VNR), 2017
by Government of India for its
contribution to achieving which of the
following SDGs directly?

1. SDG 1 -No Poverty

2. SDG 2 - Zero Hunger

3. SDG 5 - Gender Equality

4. SDG 10 - Reduced Inequalities
1,2,3

1,3,4

2,3, 4

1,2,3,4

Consider the following statements :

1.  Poverty line estimation in India has
been based on the consumption
expenditure and not on the income
levels.

2. Itis difficult to assess incomes of
self-employed people, daily wage
laborers etc., and there may.be large
fluctuations in inceme due to
seasonal factors

Which of the following is correct in
respect of the above statements?
(A)

Both 1 and 2 are correct and 1 is
the correct explanation of 2

Both 1 and 2 are correct, and 2 is
the correct explanation of 1

(B)

Both the statements are correct but
none is an explanation of the other

Both the statements are correct but
unrelated

©)

D)
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78. MGNREGS @loesq 6019618 a@I9

79.

)

s
(SDGs) sa asfel o “sqiq 2 § :ﬁﬁ
46 QI96Q 02T 62 | ADIFIFIRT RISTA G4
gode saeaia egiget MGNREGS vaia
29016g 9286 919 QIRE IERIG QIRl CRIRE
atdeim agy (VNR), 2017 ea Gqfiae
SDGs géea gous @196 asale caingm!

1. SDG1 -<i5gy & alm
2. SDG2-gugay

3. SDG 3 - fgree aaiae
4,  SDG 10 - 2201961 €14
(A) 1,2,3

®B) 13,4

(C) 2,3,4

1,2,3,4

GORYe QB89 G @9 |

1. @906 QR4 696 ARG SIAE MG
G 299 AR @ YS! WAL AR

2. 49 ¢4-998 of, 48 aga 2@ Q
g KRS 2SI @0 R 6 92 ag

QR IR UKD ¢ USRS AAICSHSY
ERIRANER

QUEAIY GF AIFE RIAER F6EIQ R Flee
QIQ 69T O] 26e 7

(A) eea 1 620g 61 628 2 o A0]

QUG
(B)
(€)

(D)

aea 1 620, 82 628 1 @ OR Quiet
Q00 23 0] @9 602 @121 QYIS ge8

98 9F 0] 3g ane Jae



(A

80. Which of the following terms are the

81.

components of forex reserves?

1. Foreign Currency Assets

2. Gold
3. Special Drawing Rights

4, The Reserve in the International
Monetary Fund

(A) 1,2and3

(B) 1,2and4

(C) 2,3and4

(D) 1,2,3and4

Which of the following statements
is NOT true in relation
PM-VISHWAKARMA?

to

(A) Itwaslaunched by the President of
India on 17" September.2023.

(B) Itisa Central Sector Scheme

(C) The new scheme intends to provide
recognition and holistic support to
the traditional artisans & craftsmen
working with their hands and
elementary tools

(D) Thescheme intends to improve the

quality, scale and reach of artisans’

products and also to integrate them
with MSME value chains
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80. GoRWe 98 gEe g €U0 cIsede gal

81.

QDGR VAT 26T |

1. ¢Q36cede Qg A

2. gl

3. Qo] Q0§ 2R

4.  29e1910 LTI QTG
(A) 1,283
(B) 1,264

(C) 2,34

(D) 1,2,3064

P60 caue d.49¢. I AABe g6 ?

(A) <21 17 eqeqnra 2023 sa RI9eQ
QAUFPAGE QU gRIAA IR

(B) 42! 628914 6QIGRI

(C) 9% qof 6dISG @ VWEAGY qIeMFR
Sodg @ 2gdF cuQnee B canRe
210 ¢ giI9H 9ZIAR ITIQ ISR
£QARING AN ARSI 8 QIR gIIe
R

(D) <% G FRIRRANS ISR @ ARE,
qie Q8 @89l 8 MSME @ qay gsrel
Qe 6QTRF AATE FQQ| QXY !

[P.T.O.



82. With reference to GST, which of the
following statements are true?

1. GST is based on a system of
concurrency of indirect taxes,
where every transaction attracts
central as well as state GST

2. GST replaced a production-based
taxation system by a consumption-
based tax system

3. It brings destination principle for
cross-border trading for which the
poorer and consuming states are
benefiting at the expense of more
affluent and industrialized ones

(A) Only 1 and2 are true
(B} Only I and 3 are true
(C) Only 2 and 3 are true
(D) All the above are true

83. Which of the following statements is
incorrect about Production Linked
Incentive (PLI) scheme?

(A) It is one of the several schemes as
part of the ‘Make in.India’
initiative.

(B) Tts-aim is“,to incentivise
manufacturers and promote
domestic production.

(C) This initiative contributes to
enhancing self-reliance in the
country.

(D) This scheme is applicable only to
pharmaceuticals, textiles and food
processing sectors.
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82. GST ziese GORYG 28AIee AUQ 6948 ~

83.

a6y 268 7 v

1. GST 6298 96qI8 §949 @ 69I189
QAAIBBIR GRA 6ARDF QEIR CREEDE
6a 62010 6 QIey GST qug eqiqeid |

2.  GST ¢iaf 68« 599 989 a1 2919
80 Teq gial ca aGeae el

3. «@ QKG9 QIEY I fEige 918
2188, 6992 QIR S5 99 RUCKG! |
QEe YR AT N9° QCYITIRAER
FRIER NRSIT 62083

(A) saep 162 asy 2es
(B) seew 183 aey a6e
(C) soer 26 3 904 26e

(D) 7 euelig ang ey a6e

aRYe AGNIRe AUQ 6AUS QQIGR AREE
aasad@ G (PLI) aasa 0] g6<

(A) 2 "60] 9] Q82" 69IAIRe @ IR
2°% RIGER LEAR 6RAINR! & FIIG 64116

(B) 42! A9y 6208 SdI0I ¢ Q6Qia aQIeg
6919198 629

(C) 9% 6QIRILGQ QIR CIRE 6496Q
2IRIRIRe 8 R4

(D) 4 37 DRG] 6REAY 620% Fa
QHIR1, 28CS 8 FIN TUIR SRIA6R



(A4.

85.

In discharging its role as a facilitator for
rural prosperity, NABARD is entrusted
with responsibilities of

(A) Providing refinance to lending
institutions in rural areas.

(B) Bringing about or promoting
development of commercial banks.
(C) Evaluating, monitoring and
inspecting all banks in rural areas.
(D) Monitoring all developmental
projects in rural areas.

India is one of the few countries
experiencing falling child sex ratio.
Which among the following statements

“could be the major reasons behind this

phenomenon?

1. High female infant mortality
(relative to male infant mortality).

2.  Female foeticide.

(A) Only 1

(B) Only?2
(C) Bothiland2

None of these

(D)
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84.

85.

gifg RRF1NAE IR AL AER FARI G2
@dci6a NABARD g 69@ Qg gele
FULING:

(A) gInd 69g6Q AIRIHS IR § a8 2
ARG gLl

(B)

QIFER QIR @ BRi96a aRE 2Id9

©)

QNG 6REER T FERY ARYILR,
FR194 8 eQed @8

(D)

QIfd 6896 AFg IRAGRT JRED
fVY B

QIS 6208 67 ca9e CRINER 69116 694 6990
dq G 2gae LT AYYES 9 | FARge
QIAFT FUQ 6RRT UG RIARA N FBE
268 7

1. 2ye oau qquee (g2 44 qguels
26Q1)

2. oay geesul
(A) eeee 1
(B) eaee 2
(C) evwals?2
@

IRIeE g 6FOTT ged

[P.T.O.



86.

87.

Gases that trap heat in the atmosphere
and cause global warming are called
greenhouse gases.

Which of the following combinations are
notincluded under the greenhouse gases?

(A) Carbon dioxide, Methane
(B) Nitrous oxide, 'Hydroﬂuorocarbons
(C) Carbon monoxide, Sulphur dioxide

(D) Carbon dioxide, water vapour

More than 90 percent of all nitrogen are
fixed as ammonia, nitrites, and nitrates
by soil microorganisms. Symbiotic
bacteria associated with leguminous
plants fix nitrogen by the formation of
root nodules. In which of the following
plant nitrogen fixation does not occurs?

(A)Common Beans
(B) Soybeans
(C) Peanuts

(D) Oats
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86.

87.

QuIg 12l GG6RE9 G9F | 2GR Q69 & @

Qg% 98 @6a 91§ §q 2199q-e4Isaq qmmév

FORYe g 699 A0 Ja Q1AT GHIeAT @
23R8 993 ¢

(A) <9e QI9aQIAT, Heae
(B) @19gQ 29199, 2ARCFIGSA QISY
(C) QU9 F6RIFING, ARA GIR 2FIRG

(D) @i9e 2IR2FIRT, BIFQ 6RO

R%l FIR6RIZNRRNST QI FIRESIERR @ 90%
Q 2R 6AIRE FIREF 6 AIREET R §a

Q62 | 6rgfieg 08 a2 abe JAEBTR QuIReTa
e g8 €08 QI AeRIeRINg O] e |

FIRYE NUQ 699 GIRED AINGTIERR FeFAR
94 /1@ ?

(A) 3¢

(B) squa.@q
©)

dae (Peanuts)

(D) 6g (Oats)



For protection of plants and animal
species and to provide for the prevention
and control of water pollution, air
pollution and the environment,
government of India has taken adequate
steps and several prevention, control and
protection Acts has been enacted.
Which of the following combination of
statements is correct?
(A) The Water (Prevention and Control
of Pollution)} Act, 1974
The Air (Prevention and Control of
Pollution) Act, 1981
The Environment (Protection) Act,
1986
The Wild Life (Protection) Act,
1972
(B) The Water (Prevention and Control
of Pollution) Act, 1972 _
The Air (Prevention and Control of
Pollution) Act, 1981
The Environment (Protection) Act,
1986
The Wild Life (Protection) Act,
1974
(C) The Water (Prevention and Control
of Pollution) Act, 1974
The Air (Prevention and Control of
Pollution) Act, 1986
The Environment (Protection) Act,
1981
The Wild Life(Protection) Act,
1972
(D) The Water (Prevention and Control
of Pollution) Act, 1981
The Air (Prevention and Control of
Pollution) Act, 1974
The Environment (Protection) Act,
1986
The Wild Life (Protection) Act,
1972
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88. @Ge 6 gie 9969 9eai TIE 96° 99 g9ad,

Qg 9986 6 IRERH A FARA 6 FARE AR
RS ARNQ JAFE AGEAA 6 FRR YR
f9Ia8, 5924 6 gaI IR gIIR 2688 Qg
g 6LlR 2IKE |

falge Aug 69x 299 6719e OR 2168 7

(A) a® (9984 @ TR0 8 Goad) 2IaR,
1974

Q19 (9984 @ S48 8 FaRrd) 2Iae,
1981

agees (geal) 2iae, 1986
eaveIe (9odl) aRg,. 1972

(B) e (gesa @ G9ed 8 §agd) 219,
1972

QI (g98d @ G104 6 Faad) a8,
1981

adeed (gaal) aieq, 1986
R64e1e (Qeal) aIee, 1974

(C) o (9984 @ GQIeE 8 Fagd) 2IRR,
1974

QIg (ge89 @ FQI9d 8 Fard) 2I9E,
1986

a@6qd (Qeql) aigg, 1981
Qqie1e (gedl) e, 1972

(D) o0 (9984 @ 8216 6 3a74) 2IQR,
1981

Qg (9994 @ §Q19d 8 Hagd) 2IeR,
1974

akeed (gesl) aee, 1986
QqiR1e (geQl) alies, 1972
[P.T.O.
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89.

90.

Government of Odisha has declared the
following Biodiversity Heritage Sites
(BHS) for the conservation of
Biodiversity in the state.

Which of the following pairs (Name of
the BHS and district) are not correct?

Gandhamardan Hill Range:
Bargarh and Balangir District

(A)

(B) Mandasaru Gorge: Kalahandi

District
(C) Satkosia Gorge: Angul District

Mahendragiri Hill range: Gajapati
District

D)

Acknowledging the years of efforts of
tribal people in conserving 130 varieties
of indigenous cultivars of rice, Koraput
district was declared as a Globally
Important Agricultural Heritage System.

Which one of the following pairs
(Organisation: Year) is correct?

 (A) Foodand Agricultural Organization

(FAO) of United Nations: 1982

(B) Foodand Agricultural Organization
(FAO) of United Nations: 1992

(C) Food and Agricultural Organization
(FAO) of United Nations: 2002

(D) Food and Agricultural Organization |

(FAO) of United Nations: 2012
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90.

658l ARQIQ @I846a FI6aIgIanadd
(Biodiversity) @ 2-a88 aid fqa
QIEAIPIRRAET 626698 ARE QIS STST |

Badge 609 6alF (§.99.4Q. @ QI 6 G]Y)
0] qs% ?

QRade aee 9faR : 999F 8 AT
@l

(A)

fOIQIQ 9K : ARIAE T

®)

Qieeeidzl O : 2R TRl

©

A6eRda a9e 0aeq ;: 9edt SR

(D)

130 geIee 6941 IR QISR A°A8E AR
2IBQIA1 6RINT QIO 9196 goIR Q89! Al
6R1QIQE Gaig 6aITe §qae1e A2qad
Agricultural Heritage System 162 62186l
QAR |

BaRge caiF (g : oF) Aag 6aels O]

(A) eRwras dFe QISR &I 8 QF
agl (FAQ) : 1982

QlBa"aa 8 AFAITTR SHIDY (3 8
a-g (FAO): 1992

(B)

Fiaraa 50 agaiesa Sy 6 Q8
agl (FAQ) : 2002

©)

ggaas §8e Qgaesa ¢y 6 Q8
a-gl (FAO) : 2012

D)



(&l. |

92.

The Govt. of India had launched “Project
Tiger”, the largest species conservation
initiative of its kind in the world on 1*
April 1973 to promote conservation of
the tiger. Nine tiger reserves were
established in different states of India in
the year 1973.

Which one of the following
combinations does not include the Tiger
Reserves established in the year 19737

(A)
Tiger Reserve

(B) Dholpur-Karauli Tiger Reserve,

Satkosia Tiger Reserve

(C) Manas Tiger Reserve, Sunderbans

Tiger Reserve

(D) Ranthambore Tiger Reserve, Kanha

Tiger Reserve

A marine protected area (MPA) is
essentially a space in the ocean where
human activities are strictly regulated and
these places are given special
protections for natural or historic marine
resources by local, state, territorial,
native, regional, or national authorities.

Which one of the following is not a
MPA?

(A)
(B)
(©)
(D)

Periyar inKerala
Bhitarkanika in Odisha
Malvan Marine in Maharashtra

Coringa in Andhra Pradesh
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91.

92.

ARG IR “CIRER 67I68Y” AR Q6R,
1* @@ 1973 6a IgFIeaa Q84 SRNER
Qg6a AA9R6 gRIC QR8s A aEA S96R |
1973 adgieq QIoel a8 aleiea 9 & auig
QR4 Fie 95 62 |

FARYS RIQ 68R 670G MY AQLE 9EFIR
Aeq e /6% 12l 1973 adesa gfal
€RIRAR ?

(A) 621699 FINER 3R, AFFAR IRAR
Lo
(B) suI99Qe - I0I8F ¢Iada 94,

gleeaidizl FIRs Gew
(C) 9I9Q CiReQ 899, gRese ¢1ada 8
QIR CIR09 AeR, 94 CIRR Gee

(D)

QAP CATC 28R 62T JECE AYILER YS!

- @ gIe, 690 AI9e gRAI IR *0I1eF Q19

dReEe 949 6 698 QIF 953 9IRa, UGN,
QANE, FIS10, BTG BRI SI01A FYA/F QR
QIgEe dnl J021d9 AARAINT QIR o3 godl
Qa8 |

PARYE Qg 6RNT AIPIS 0le 28R G64 ?
(A)- £RRRQ 6ARNR
(B) 6Raq Gceedtel
(C) 299a ARKIR AR
(D) =z18g699a cRIReH

" [P.T.O.



93.

94.

The United Nations Conference on
Environment and Development
(UNCED), also known as the ‘Earth
Summit’, was held in Rio de Janeiro,
Brazil, from 3-14 June 1992.

Which of the following combinations of
statements about the conference is
correct?

i.  This global conference was held on
the occasion of 20" anniversary of
the first human environment
conference held in Stockholm,
Sweden

ii.  Itfocused on the “impact of human
socio-economic activities on the
environment”

Representatives from 79 countries
participated in the conference

ii.
(A) iandii
(B)
©)
(D)

i and iii
ii and iii

i, ii and iii

Microsoft, the recipient of UN Global
Action Award, is now committing to
remove from the environment all the
carbon the company has emitted either

directly or by electrical consumption
since it'was founded.in 1975 by 2050.

From which year the company has
adapted to be carbon neutral?

(A) 2010
(B) 2012
(C) 2014
(D) 2016
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93. UNCED 2éig ‘Earth Summit’ aiese

9.

ealgel, o1 3-14 g 1992 g Rio 3@‘
Janeiro QIGR 60 AQFE IR |

BORYS 93 AR AIRE FRIQ 68AE OF 266 ?

1. 9% 2ggeig QFea1 aaealf, J6eq 6a
gen ARe afsed a8eata 2060 aide
QY96Q QFe cTIRIR

. 991 08699 Q960 AGE 2Ne-QAINEe
geIe” aaea 9f A19d4 aqaw

ili. 79 60aq goay flI6e AARKIER 6QITR

R326n

161l

(A)

igiii

(B)

116 il

()

1, 11 8 1ii

(D)

AIR6gIaq, §18a°a @idy gaaia (UN Global
Action Award) @ F6e6!, S8R al6eag
aAg TN, § IR K QIR gEgeeR
e 2050 adal saeg 1975 adese gide
6291 Q01 QUIARE Tl CRYPTR QLI
Qlau Gde *aa

caa 9dq AR ATIRNE, FREAY 62U GL6l
|

(A) 2010
(B) 2012
(C) 2014
(D) 2016



World Environment Day is the United

5.
Nations Day for encouraging worldwide
awareness and action to protect our
environment, In 1972, the UN General
Assembly designated 5 June as World
Environment Day (WED). The first
celebration, under the theme “Only One
Earth” took place in 1973, Thereafter
every year the day is celebrated with a
theme.
Which of the following pairs (Year and
Theme) is not correct?
i. 2023 : “Solutions to Plastic
Pollution™

ii. 2022 :“Only one Earth”
ii. 2021 : “Ecosystem Restoration”
iv. 2020 :“Time for Environment™
(A) i
(B) iandii
(C) iiandiii
D) w

96. One light year is equivalent to roughly
how many kilometers?
(A) 1.5 trillion kilometer
(B) 4.5 trillion kilometer
(C) 7.5 trillion kilometer
(D) 9.5 trillion kilometer

97.  Jet fuel used in turbine based aviation
engine mainly consists of
(A) Petrol
(B) Diesel
(C) Kerosene
(D) CNG

CSP-1/A

45

9s.

96.

97.

Q¢ aGiead G9d 628 A7g §ggase AETew
8 A%6949 goal QIdicq aa@e «d aig
Q608 §161% 89Q, 1972 6a goaIg AIRE
ARG 8¢ AR6e8 T4 AI6R 5 R g GaIde
aml | 1973 adece “saeq 601G gae”
Q809 § 67K QYR JIR TR | §1'Usa gaed
39QG 6aIGN 39A AIGES JIRe 6203 |

fORge oug 69 6Aee (ed 6 §9a) 0%
Q6% ?

L. 2023 : “Qide 9994 @ fa1eed”
i, 2022 : “eesiﬁa €a1Ea gaet”

iii. 2021 : “qexidaa (ecosystem)
GRARIR”

iv. 2020 :“aRegd aix Qaa”

(A) i

(B)
©)
(D). v

1611

1611

6415 2I6RINed 67I9I6AIT AT 6969
Feqlficq ?

(A) 1.58R08 fsaifica
(B) 4.5 gQaq deaifica
(C) 7.5 ghar Rsaifien

(D) 9.5 Ghee Aenifiea

SRR URIGS FFAIF ATAER NS 66
QAP IGS

(A)
(B)
©)
)

696G
Geam
6@EQITR

a9ei

N [P.T,_O.



98.

99.

100.

The light emitting diode (LED} is made
of

(A)
(B) Ge
©) GaN
(D) Tungsten

Meniscus rise in glass thermometer is
due to the change in

(A) Density
(B) Mass
(C) Heat capacity
Thermal conductivity

D)

A glass of (1) tap water, (2) distilled
water and (3) sea water is cooled to its
solidification. The order in which they
will solidify first is

(A) tap water, distilled water, sea water
(B) distilled water, sea water, tap water

(C) seawater, tap water, distilled water

(D) distilled water, tap water, sea water
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2isRie agee e1e6e (LED) 6218 saiRard

(A) Si

(B) Ge

(C) GaN

(D)

Tungsten

Qe 26FIACRca 697AA 9F 698 QIREY
aGeae 6QI1g 6gIR8lq

(A) aeg

(B) <98

()

SR MRS FAL

(D) elag ateIRa!

eaiEa quaea (1) eug €18, (2) 88q a1di 9e°
(3) agR €Ifiq AFIN4 SAULIR A& AQUAI |
6AgER 609 9NeR QDR 6269 G121 6208
QuIg I8, @3m 1§, age aiél

(A)
(B) &&8q 918, age aid, cuig aid
(C)

Qaqe aid, cuig I8, 88 aié,

(D)

ega aid, cuq aid, a9g Q1d
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